
1 

 

2017+ Ford Super Duty 
2-Stage Front/Leveling Kit 
Installation Instructions 

2686 Highway 92 - Oskaloosa, IA 52577 
phone: 641.673.0468 - Email: info@kelderman.com 

www.kelderman.com 

A 13/32 drill bit is       
required for installation. 

 
A 1/4-20 tap and 5/16-18 
tap and 1/4” and 13/64 

drill bit is required if     
installing  

Hadley  controls. 
 

Version 1.3 

2017 Ford F-250 shown w/ 2-Stage  Front 
 Leveling Kit & 4-Link Rear Air Suspension  



2 

1. Jack the truck up by the frame and remove the front wheels. You will need to place 

floor jacks under the front axle to keep the axle from dropping when you remove 

the front factory shocks. If two people are doing the installation, both sides can be 

done at once.    

 

 

 

        

 

 

 

 

 

 

2. Remove the nut from the top of the factory sway bar end link and remove the factory 

shocks.  

 

 

 

 

  

 

 

 

 

 

 

 

 

 

 

 

Remove the 
factory/existing 
shocks 

Unhook the sway bar  
end links from the  
factory sway bar.  
 
 



3 

            

            

            

            

            

            

            

     

 

 

 

 

 

 

 

 

 

 

            

   

 

 

 

3. Drop the jacks that are holding the axle up until the tension is off the coil springs.   

4. Locate the upper air bag mounts (part# 69067 DS and 69072 PS). These mounts 
fasten to the upper spring perch with the two 3/8 x 1 1/2” bolts. You will need to drill 
these holes. Put the upper airbag mount in place so the large hole for the air bag is 
facing out (towards you) and mark the holes. Pull the bracket towards you when 
marking where to drill the holes (there is about 1/8-3/16 play, pulling it away from the 
frame will keep the air bag from rubbing on the inside of the frame). Drill the hole and 
fasten the upper mount in place. Torque the 3/8” bolts to 40 ft./lbs.   

Large hole in bottom plate   
faces away from the frame 

Holes will be drilled for the upper airbag 
mount to install into the spring perch.  

Use the upper airbag mount as a template 
Before drilling the holes for the 3/8 x 1 1/2” bolts 



4 

5.  Locate the lower air bag mounts (part # 69376 and 69372). These fasten to the   
axle with the M14 x 25 bolts and the 3/8” bolts. You will have to drill the holes for the 
3/8” bolts. There are two holes in the lower plate. The passenger side uses the hole        
furthest away from the frame and the drivers side uses the hole closest to the frame.   
Drill the hole with a 13//32” drill bit.   

Passenger side shown 

NOTE: The  
F-450 pickup only 
uses the 14mm 
bolt to fasten to 
the axle.   
 
The lower air bag 
part  numbers are 
15107DS and 
19905PS. 

Passenger side 
uses the hole clos-
est to the tire.  
 
Drivers side uses 
the hole closest to 
the engine. 



5 

6. Locate the 5323 airbags. The airbags fasten to the upper airbag framework with the 
1/2” and 3/4” nuts and lock washers. Torque these nuts to 35 ft./lbs. The bottom of 
the airbag fastens to the lower air bag mount with the 1/2 x 3 3/4”.  

 
     Make sure the star washer sits against the lower airbag mount. Torque this bolt to  
     35 ft./lbs. This will prevent the air bag from sliding around on the plate. Locate the        
     air fitting and insert into the air bag. Put the air fitting in finger tight and then turn 
     one complete turn.   



6 

7. Locate the provided shocks and the lower shock mounts (part # 69157). Install using 
the stock shock bolt on bottom. The shocks provided with the kit are typically Rancho 
9000 adjustable shocks.  
 
8. Once the air ride is installed, its time to hook up the air lines. If the system is a man-
ual fill (no onboard air), just route the air lines up under the hook and zip tie          
somewhere for easy access. Each side needs a Schrader valve. Inflate the airbags to 
8” and record your pressures for future reference. The pressure will be in the low 70 
psi range. Don’t be alarmed if one side is a few psi higher than the other.  

This picture shows the 
Schrader valve or 
manual fill.    
This placement is for 
mock up only.  The air 
line needs to be run 
up under the hood 
close to the front for 
easy access. 

The air bag operated 
at 8” tall.  Measure 
from upper and lower 
air bag mounts. 

The 2017 F-450 uses 
a lower air bag like the 
one pictured here.  It 
only uses the 14mm 
bolt to fasten to the 
axle. 



7 

9. To prevent the shock mount from rotating, or rattling place a small 1” stitch weld on 
the end of the shock mount. Using the red knob on the shock itself, turn the knob to 
adjust the valving according to your application. Typically setting 3 works the best with 
the air suspension on these trucks.   

Place a small 1” stitch weld on the provided 
lower shock mount (Part # 69157). 



8 

10. If you are installing the Hadley electronic 4 corner system, use a 13/64” drill bit to 
drill and tap the frame for the 1/4-20 bolts. The mounting holes need to be straight up 
and down. The picture below shows where to locate the sensor and where to drill and 
tap the trailing arm for the ball stud. The sensor needs to be straight out at ride height. 
There is no air in the air bags in the picture below.  
 
11. Once the sensor holes are tapped fasten the sensor to the frame, set the air bags 
at 8” tall. The arm on the Hadley sensor will need to be straight out. Find the spot  to 
mount the ball stud to the factory radius arm when the sensor arm is straight out.   You 
can shorten the linkage arm if needed. Once you get the ball stud location, drill the 
spot with a 1/4” drill bit and tap it to 5/16-18. Install the ball stud and fasten the linage 
to the ball stud on the trailing arm and on the sensor. There is a small retaining clip on 
the linkage that needs to be removed when installing or removing the linkage.   

The Hadley sensor mounting requires    
drilling into the factory frame & radius 

The red knob will allow adjustment to the 
valving on the supplied Rancho shocks. 
 
Previous design shown w/o lower shock 
mount bracket.  

The Hadley sensor should be straight out when 
the system is at ride height. Photo below is at 
the system’s DUMPED height.  

A ball stud is mounted into the factory radius arm 
to connect the linkage to Hadley sensor itself.  

Hadley Ride Height Sensor Mounting 



9 

Haldex Height Control Valve Mounting 

12. If you are installing the mechanical Haldex height control valve, use a 13/64” drill 
bit to drill and tap the frame for the 1/4-20 bolts. The mounting holes need to be 
straight up and down. The picture below shows where to locate the sensor and where 
to drill and tap the trailing arm for the ball stud. The sensor needs to be straight out at 
ride height. There is no air in the air bags in the picture below. Once the sensor holes 
are tapped, fasten the sensor to the frame. Inflate the air bags to 8” tall. Set the arm on 
the sensor so that it is straight out. Find the location where to mount the ball stud to 
the trailing arm so the sensor is in the correct position. You can shorten the linkage 
arm if needed. Once you get the ball stud location, drill the spot with a 1/4” drill bit and 
tap it to 5/16-18. Install the ball stud and fasten the linage to the ball stud on the trail-
ing arm and on the sensor. There is a small retaining clip on the linkage that needs to 
be removed when installing or removing the linkage.   



10 

Track Bar Drop Bracket Installation 

13. If you are installing the optional leveling kit air suspension, locate the pan hard 
bar drop bracket (part # 96381). This bracket replaces the OEM pan hard bar brack-
et.  The bolts from the factory panhard bar bracket will be re-used. Torque the 14mm 
bolts to 125 ft./lbs. and the 18mm bolt to 175 ft./lbs. 



11 



12 


